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43,./ Mlhwsh nost of the fastest growing jobs in mdajkmﬁmy will require a college degree,
many of the new jobs being created-from home “gide 1o deskiop publisher-require
knowledge other than that gained from carning a degree. For workers in those jobs, good basic
skills in reading. communication, and mathematics pl:ﬂn_‘nnpmm role in getting ajﬂb and
dew.lupmg'lﬁtc ]

meﬁt information given above it can be valldljr mhbded that, in today’s
M'

a.  skills in reading, communication, andnﬂunuﬁﬁ play an uum-mw in
' developing a career as a deskiop publisher.
Qihcmljmtyofﬂunmpbsbcmgcmquumkmwg@ lhamllnt

gained from carning a college degree, g

q, z]mhamwmmkmﬂulywunmmMMMM
basic skills in reading and _

q. lfaphmm::fﬂwl‘mw*i bs, it will require a college degree.

.

A3 Axmrdm; m the National cultural Aviation Somﬂy (NAAS). without the use of ﬂbﬁ
mmmwuﬁjmmwmmmmswmvmlmwi
more than 50 percent. The first aerial application of insecticide occurred in 1921, and it wasa
huge success. By contrast, in today's economy all mircraft that are classified as aerial
;pplmm#ﬁ:nmth:njus: apply insecticide; today. mmwmmwg;
ertilizer. =]

From lhdﬁfmuminngimn above it CANNCFrbewﬁnﬂymludcd that

m&gmmm :fmupymldspwmmﬁnphymmmm
ﬂhimppﬂacuonpmdmhwcbmmdm i
b, hhﬁy’-‘smomy mym&‘lﬂ:ﬂmh
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Lou observes that if flight 409 is cancelled, then the manager could not possibly arrive in time
for the meeting. But the flight was not cancelled. Therefore, Lou concludes, the manager will
certainly be on time. Evelyn replies that even if Lou’s premises are true, his argument is
fallacious. And therefore, she adds, the manager will not arrive on time after all.

Which of the following is the strongest thing that we can properly say about this discussion?

a. Evelyn is mistaken in thinking Lou’s argument to be fallacious, and so her own
conclusion is unwarranted.
Evelyn is right about Lou’s argument, but nevertheless her own conclusion is
unwarranted.

¢. Since Evelyn is right about Lou’s argument, her own conclusion is well
supported.

d. Since Evelyn is mistaken about Lou's argument, her own conclusion must be
false.

Cars are safer than planes. Fifty percent of plane accidents result in death, while only one
percent of car accidents result in death.

Which of the following, if true, would most seriously weaken the argument above?

. Planes are inspected more often than cars.
¢ The number of car accidents is several hundred thousand tim%w than the
number of plane accidents. :
c. Pilots never fly under the influence of alcohol sﬁg&éﬁvm often do.
d. Plane accidents are usually the fault u{a'( l@ﬁt controllers, not pilots.

{L

Directions for Question Nm‘
Refer to the chart below showN nual production and answer the questions that
follow.
: w {% Production) Industry Primary Usar m
H‘\‘_“ F""'i-‘.". 0-15%
2-10% S iy
el
310% ..--""""--"'%
4.25% §-15%
..-""--..__
5-40% i a—— ',,.-"‘/ T. 5%
6-5% i ; ;-:.-—w""“vu 15%
— ———— V- 10%
Em—— £ 3

100%=100,000 tons Tolal 100%
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4{ Which industry /industries contribute /contributes to company S?
Industry A and B only
B and C only
c. AandC only
d. B only

40/ Industry B processes what percentage of the total production of listed elements?
a - 25%
b. 65%

40%
@Cannm be determined

il} Of the listed elements processed by the Industry A, how many tons are produced annually?
a. 30,000
b. 50,000
1,00,000
d. 55,000

Directions for Question Nos. 49-52

In each of the following questions there are two blanks marked T & II wurdt to fill in

these blanks are given against I as (A, B, C, D) and Il as (P,Q.R.S uvel]r The right
words to fill in these blanks are given as four alternati 5 on either side of the sign
(::) have a similar relationship. That nllcrnanw: gnifies this relationship is your
Answer.

ey

4y 1: Increase :: Descend : 1T

I- A)Grow B) Ascend C) Rise D) Price
II - P) Reduce Q) Down R) Decrease  S) Mountain
a. AR CDrs c.CP d.DQ
50.  Modern: I 11: Old
I- A) Ancient B) Death C) Famous D) Civilization
I - P) Industrialisation Q) Young R) Fashion S) Western
DA b. AS c. BP d.CR
ot Pan:l:Class: II
I- A) Section B) Whole C) School D) Students
II - P) Student Q) School R) Teachers  5) Rooms

a AR CDse «CP d.DS
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?;Z’_ Summit : Apex : I: 1

I - A) beautiful B) Picture C) Auractive D) Enchanting
II - P) Comfortable Q) Pretty R} Healthy 5) Brave
DA b. BP ¢. DS d.CR
53/ Ifina certain code, BEAUTIFUL is coded as 573041208, BUTTER as 504479, how is
FUTURE coded in that code? asia
a. 201497 o
204097 i
¢ 704092 £
d. 204079

54~ How many Mondays are there in a particular month of a particular year if the month
ends on Wednesday?

a 4 ag

bi:5 24

sl 4
CDCannot be specified.

Directions for Question Nos. 55-56 S(\
There are two rows of numbers in each question. The upper row is c@Q{ te and in the

lower row one number is missing. Find a suitable nu It the blank space so
that the symmetry with the upper row is maintained 65
v 201 @BY5  ai@y ?’§1§
7Tzl 2] *21 @ @ d
1517 (10 \]\N\N\‘
> [36]14] 22080 125 d 450
1517 {16
Directions for Question Nos. 57-58

Seven People A,B,C,D.E,F,G are planning to enjoy boating.There are only two
boats, and the following conditions are to be kept in mind.

(I) A will go in the same boat in which E is 1o go.

(II) F cannot go in the boat in which C is, unless D is also accompanying.

(I1T) Neither B nor C can be given the boat in which G is.

(IV) The maximum number of persons in one boat can be four only.

27./ If F and B are in one boat, which of the following statements is true?
G is in the other boat
b, D isin the other boat
¢. Cisin the other boat
d.  Eis with F and B'in one boat



www. way 2f r eshers. com

A8, IfE gets the boat with F, which of the following is the complete and accurate list of
the people who must be sitting in other boat?

a. Fand E
b. Gand A
o Dand A

@ C,Dand B

Directions for Question Nos. 59-60
A series of figures has been shown on the left. Find the figure in the place of ? from
the figures on the right.

* WA BTG

a b. d.
e co®
6.  Complete the following series. ‘(\e( P T
(GMSY. IOVA, KQWC, ?) 0% < eS
E)MSYE .
NSYE ‘ e
c. MYT
d. MSYF

-
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Directions for Question Nos. 62 ~ iE

Following is a new plan called *Airtel Om mlmdwecl by Airtel (GSM service Provider) for

its post-paid customers.

Puls Rale S
Price of Plan s @
Fret Airfima on Plan B
incorming CalsiFis) Free
Qutgaing Cass (Rs/minue -
Aintal T Landing / WLL
LOGAL RATES Rs.t sl Rs2
STD RATES :
50-200 KM Rs150 | A5 150 ]
200-500 KM Fs150 | As250 L
500+ KM Rs150 | As300 As3.50
15D
USA, Canada Eurpe(Foxed Line. | Rs.7
Gull Europe( Mobile) SAARC Fs 10
Fiest of the wond Ae 40
Tocal Rs 150 el o L N Y
Natoral 00 =7a N \\ ©
Intemational Fix 5.00 A he
fis 3.00 and A5 \NGPJ-—
‘or the senice )
y hmv}
Wiorithly bil=Cal Charges + SMS Charges +Price of Pian \'\\5’\&

If Mohan made STD calls (within 100 Kms ) for 30 min and spent 100 min on local calls with
30% on landline, 40 % on GSM and 30% on Airtel, and Rohan spent 18 min on STD within
150 Kms and spent 120 min on local calls with 30%,40% and 30% on GSM, landline and
Airtel respectively, then who spent more ?

a. Mohan
) Rohan

c. Both spent the same amount.

d. Cannot be determined.

JoSb
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63 A new SMS scheme was introduced @60p/local SMS, with an additional

monthly charge of Rs. 35.Who will not benefit from the scheme? A person sending
38 local SMS a month :
0. 40 local SMS a month I*on . 35 =B
c. 60 local SMS a month 3¢ -
A T B SR 1
d. 59 local SMS a month Sl *%
(73

@a./ A bill of Rs 199/Month is definitely not possible when you make only
a. 30 calls to airtel on STD(500+Kms) and 55 local calls in 2 month
b. 16 calls to airtel on STD (15Kms and 76 local calls in a month)
¢. 10 STD calls (250 Kms) each to Airtel, GSM and landline respectively

and 30 locals in a month
4 and 7 calls to Airtel. GSM and landline respectively on STD( 500+Kms) and 55
local calls in a month ' >

E" AT SN

65. A person makes 12 minutes of ISD calls in a month. 1f 80% of his ISD bill came from calling
the rest of the world, then the ISD calls for the minimum  duration were made to which of the
following group of countries?

a. USA, Canada, Europe (Fixed Line)
b. Gulf, Europe (Mobile), SAARC
¢. Rest of the world 00«\

@ Cannot be determined. S.
et
R
Directions for Question Nos. 66-67 \J 2
These questions are based on the pm h shows the demand and production statistics of 5
T.V. companies . \N\N‘ﬁa
3500 -
3000 -
2500 -
2000 Blemand
1500 - |
WProduction |
1000
500
ﬁ o
A B c D E
B6.  What is the difference between the average demand and the average production of the five
companies taken together?
b 40O L
280 fuk s s fe boe
d. 138 L

| Hon

2E8t .y
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tions for Question Nos, 68-69 [ ;
lowing questions are based on the pie-chart given below which gives the expendit
ed in printing a magazine:

Msoalhnmsu
2% i
4 i Paper cost
Transportation | e
f,:,‘ 1= 10%

Binding
12% i

Printing
24%

Promofion cost
18%

Editorial contant
development
30%

What is the angle for the sector representing

a. 10 degree . . 45 degree

What should be t i i a profit of 5 percent?

c. Rs.8 @ Rs.8.40

If ‘water’ is called ‘food’, ‘food’ is called ‘tree’, ‘tree’ is called ‘sky’, ‘sky’ is called ‘wall’, on which of the
following does a ‘fruit’ grow?

a. Water b. Food C. Tree Sky



